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SECTION-A (5X 1=5M)

CHOOSE THE CORRECT BEST ANSWER

1.
5 z+1 (1] @
Ifwm= c'isTfT . then the mumber of distinct roots of | @ z+@" 1 |=0
@’ 1 I+
(1)1 (2) 2 (3)3 (4) 4
2.
T (- | a, a, da,
If A=|2 2 0 |and 47" =|a, a, a, | thenthevalueofa, 1s
]. 2 _]. f‘j[ aﬂf 033
(1) 0 2) -2 (3) -3 4) -1
3
g
1 t:m—_j-
If A= 0 “ |and AB=1, then B=
—tan — 1
2
(1) [cus E) A (2) [cas:g]Ar (3) (cos® )1 (4) [’QI[I —]

4. a square matrix is called

a) singular b) non singular c)bothaandb d) none of the above

4.
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If x"y"=e",xy" =€",A = d‘,ﬂ., = A= , then the values of x and ¥
n S le nm c

are respectively,

(1) g2/ gldsi) 2) log(A,/A,)log(A,/A,)

(3) log(A,/A)log(A, /A)) (4)) e'M'2) l2af%)

SECTION -B (5 X 5 =25 M)

ANSWER ANY FIVE QUESTIONS

By using Gaussian elimimation method, balance the chemical reaction equation:
C,H, 4+ 0, = H,0+CO,

Investigate the values of A and u the system of linear equations 2x+3y+52=9,
Tx+3y—5z=8 2x+3y+Az=pu_have

(1) no solution (ii) a unique solution  (iii) an infinite number of solutions.

In a T20 match, a team needed just 6 runs to win with 1 ball left to go in
the last over. The last ball was bowled and the batsman at the crease hat 1t hngh
up. The ball traversed along a path in a vertical plane and the equation of the
pathis v =ax" +bx+c with respect to a X¥-coordinate system in the vertical
plane and the ball traversed through the points (10,8),(20,16),(40,22) . can

vou conclude that the team won the match?

Justify your answer. (All distances are measured in metres and the meeting point of the plane of
the path with the farthest boundary line 1s (70,0).)

Obtain the Cartesian form of the locus of z 1n each of the following cases.
(1) |:|=|z-f'| (1) |22—3-f|=3

Solve the equationz’ +8i =0 wherezeC .

10.
11.
If z=2-2i. find the rotation of z by # radians in the counter clockwise direction about the
orngin when

. T . 2

H = H = —
(1) 3 (11) 3

12
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If the equations x” + px+¢g =0 and x* + p'x+ ¢ =0have a common root, show that it must

be equal to Pq _‘ﬁ:q or qr_q :
qg=q p=p
Solve : EJE +3JE: E+ E—H .
a x a b
13
Smplify (1) (1+1)" (11) {—\E +30)".
14
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